	8 – 3
	3 – 8

	3 + -5
	-3 – 5

	-4 + 3
	-4 – 3

	-1 – 5
	-4 – -3

	-1 – 5
	-1 + 5

	4 – -3
	4 + -3

	4 + -5
	-3 + 9

	7 + -4
	-2 + 6

	-7 + -5
	8 + -9

	-9 + -2
	-6 + -6


	6 + -6
	7 + 8

	-5 + 4
	6 + -3

	-8 + -6
	-2 + -9

	Jacob observes that the temperature is 

-3 degrees Celsius.  If it rises 7 degrees in the next two hours, what will the new temperature be?
	Marissa observes that the temperature is 2 degrees Celsius.  It falls 9 degrees that night.  What was the low temperature that night?

	Ida takes 8 steps forward and then takes 6 steps back.  How far is Ida from where she started?
	Lorena takes nine steps backward and then three steps forward.  How far is she from where she started?

	Jennifer checks the temperature and it is -9 degrees Celsius.  If the temperature warms up 8 degrees, what is the new temperature?
	On a day at the race track, Jared won $5 on the first race, lost $7 on the second race, lost $5 on the daily double, then won $2 on each of the next two races.  How much money did Jared win or lose?

	What is the opposite of -8?
	It was 7 degrees Celsius in the morning.  The temperature dropped 8 degrees.  What is the temperature now?

	Tanya is atop Bell Rock at 256 feet above sea level.  Cassie is in a cave below Tanya, 37 feet below sea level.  How far apart are Tanya and Cassie?
	Madison has borrowed $32 from Uncle Felix and Zachary has borrowed $74.  Who has borrowed more and by how much?


[image: image1.emf]
